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] @11 Implication ] fRid 7774

+ P>Q
—QifP
— P is sufficient for Q

— Q is necessary for P
—Ponlyif Q
— Q whenever P
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] 2. Exercise 2.8

o« =

— If it is Wednesday, then Mr. French eats only
pickles. W—>P

— If it is Monday, then Mr. French eats only
chocolate. M—>C

— Mr. French is eating chocolate. =P

« INRGNC, R BAE R R ?
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] @i3. K EKnights and Knaves

e John: We are both knaves.
e Bill: ...
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(J/A(=J/\=-B))V (=) A=(=J/\-B))
= (JA=J/A-B)V (=) (--1V--B))
=F\V (-J/A(J\VB))
=-J/A\(J\VB)
=(-JAJ)V (-J/AB)
=F\/ (-J/\B)
=-J/\B
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e John: We are the same kind.
e Bill: We are of different kinds.

9/27



1| B (OUOB)ABO-(6B)

F

m m - -
m 4 T -

F
T
F

10/27



) 4 5 /AT G ZCH A TR

o« (PAGANV(PA=-gANV(pA=q/A\=r)V (=pAg/Ar)V(-p/A\-q/\r)
ANV (=gAr)V(pA-q/\-r)

o AALETHENLE S BA ML ?
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|

e Forall x€A, property p(x) holds.
vx,(x e A= p(x))

* For some xEA, property p(x) holds.

I, (x e An p(x))

AR
X, (x e A— p(x))
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6. BEA ) THIR

The set of all odd integers.

The set of all points in the xy-plane above the
line y=x.

The set of all points in the xy-plane that are
inside the circle of radius one.

The set of all irrational numbers.
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e C->R

e C&C VG V.V,

¢ C>R<>(C,>R)A(C,»R)A.../\(C,>R)?
< (-C,AR)A(=C,AR)A.../\(-C /\R)
< (-C,A-C,A../A=C)/\R
<—-(C, VG V..VC )R
<>-C/AR
<C-R
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o FIEE: nNIEIRER
o AKiI: P(n)
— W, BHEANFIRNAET Y TEIESL R & H R 5KANA]
— M4, FeEUUamEF]: NE K25 A R &
o FUFIHPE
1. n=20), URBHPIRE N
2. n=kEf, P(n)& L, NWin=k+28, FBHPRE
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UDZH 13 [n] @il 2

o St
— — M KE Hii]
— FAE T HNE S 1A
— IEx—F (Flgn: wow)
— 180)% ﬁﬂe%w: IExk—# (Flan: Mom)
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UDZE 1% 0] 5

e |s it more likely, less likely, or equally likely that
you find the bathroom on the first try than on
the third try?

— P,+P,+...+P,=1
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* RDSXCVIWTDGNXH...->CODINGTHEORYIS...
— TR AR] R T8 X G A gl A2 LB ) 2
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o %
— http://en.wikipedia.org/wiki/Counterfeit coin_pr
oblem#The twelve-coin problem

o TELIIFX

— http://nrich.maths.org/5796

21/27



.

=N
EH

I

=
==

ATy ]

7 75 IR SR VTR AL (B

2430
2431
2432
2433
2434

10110000
11110000
00000000
00010100
01001111

22/27



172
)

23/27



yalll
o
iy

I £

o BRIEBERIIE X
—7/2=3
~7.0/2.0=3.5
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— X==2

L)

— X=2

— If (x=2)
— If (2==x)
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